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5. ¥ ¥ GRAF 31 @Uel F #_ 5. This question booklet is divided into

HUE-3 09 GUS-T |

- TUS-5 § 70 a53Fre wew § frd 6

q &= 35 wvt @1 s @
Afvard 1 35 geat @ sifre w7

¥ IR 37 & o0 39ermy v o
OMR I-73% & few 77 W} e
F it / FIed aT 97 @ TF FF
fadt st w@w F wEEAw / A

qarel / &S / AT NfE FT OMR
IW-gFF H mFim v owar
T QT GROT AmTT g

. @S - T H 200 FIT avT |
¥aF & fow 2 o FriRa & Red
g fF=F 10 et @1 F=v 3=
Ffvard | 7% AR 79 @ve o
6 21 IadiT v+ 3 wa &, vaw
& forg 5 s fuifia & fed @
et 3 meal @1 IV @
fvard &1

. frat gt & seRiTE 39BN HT 8.

72T Qofaar afor &

7.

Section-A and

i —

two sections
Section-B.

In Section-A, there are

70 objective type questions, out
of which any 35 questions are
to be answered. If more than
35 questions are answered, then
only first 35 will be evaluated. Each
question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

In Section - B, there are 20 short
answer type gquestions. FEach
carrying 2 marks, out of which
any 10 gquestions are to be
answered. Apart from these, there
are 6 long answer type
questions, each carrying
S marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.

25A/12/112
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Q{ug - A / SECTION - A

aWTS AT / Objective Type Questions

(118

uvT @& 1/ 70 7% & WA Gy & a9 fwew R 0 2 i & &

Wﬁ?fmmﬂﬁwwﬂ%m#mmsﬁzw%@waﬁrﬁiﬁ

355yl &7 IAT T4

35 x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR Sheet. Answer any

35 questions.

1. Frefefes 8 9 sl qgonfoas W@ S @ ?
A) e st (B) TR Jftree

) (A) 3R (B) T (D) T Q FI§ TE

35x1=35

which of the following adsorptions forms multimolecular layer ?

(A) Physical adsorption (B) Chemical adsorption

~ https://www.bsebstudy.com

(C) Both (A) and (B) (D) None of these
o e § Sufeda srgfedl H I A 2
(A) A B)
() fhaurg (D) HTgHS
25A/12/112 Pagels / 40
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D | (118

Impurities present in an ore are called

(A)  Flux - \.(r{} Gangue

(C) Alloy (D) Slag -

s 1S 3 g % siiewse % g # w g 2

(A) Al (B) C

(€} Mg (D) s

The process of smelting involves reduction of metal oxide with

(A) Al (B) C

C) Mg . D) S

R (L) &

(A) TF FHAY A (B) TH FAdse

(C) Th UfRAss D) Th p-=AisF B qe

Lutetium (Lu} is
(A) a transition element (B) alanthanide

(C) an actinide (D) - a p-block element

25A/12/112
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3w it F e ) e AT e B 8 2

(A) 223 30 (B) 2130

(C) 21¥® 31 | (D) 218 29
Elements of which atomic numbers belong to 3d transition series ?
(A) 22t030 (B) 21to30

(C) 21to3l (D) 21 to29

ﬁmﬁfﬁaﬁqﬁwmmﬂ@%gﬁa’mﬁﬁﬁﬁmm%

Ti + 21, — 2K 5 i1, S Ti + 20,

(A) O (B) e

€) A I N (D) & M
The process of purification of metal represented by the following

equation is called

Ti + 21, — > Til, 1675 K, i +21,

(A) Cupellation (B) Poling

(C) Van Arkel (D) Zone refining

25A/12/112 |
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7. ﬁm%ﬁﬁaﬁaﬂqu@ﬁga-maﬁmqﬁﬁm% ?
(A) Na (B) Mg
(€} Al (D) Fe
Which of the following metals is not obtained by electrolysis ?
(A) Na (B) Mg
(C) Al (D) Fe
8. fr=fefiga # 19 sfwms wﬁu 22
(A}  CO, (B) CloO,
(€} SO, (D)  Sio,
Which of the following oxides is paramagnetic ?
(A) CO, (B) ClO,
(C) SO, (D) Sio,
9. TrafeRas 3 #17 am wfogedr 2 2
@ cr* | B) V**
© s o) T
20A/12/112 Page 6 / 40

https://www.bsebstudy.com


https://www.bsebstudy.com/

D | [118]

Which of the following ions is diamagnetic ?
\}K)/ cr®* | tBJ V2
€ Sc o T
10. SR (Z =29 )w.saagﬁmﬁma%
(A)  [Ar] 3d%4s? (B) [Ar] 3d'%4s
(C)  [Ar] 3d%4s? | (D) [Ar] 3d'04s?
The electronic configuration of copper ( Z = 29 ) is
(A)  [Ar] 3d°4s? 4B)  [Ar] 3d"%4s!
(C)  [Ar] 3d84s? (D) [Ar] 3d'04s?
11. <A H?Eﬁ 1 HAIR geai T G
@A) (n —2)f1‘14[n71)52p6d 01,52
(B) | (n-2)f0¥(n-1)d""ns?

© (n-2)f""n ~1)d %lns?

D) (n-2)d%(n —1)f0_"14n51

40
25A/12/112 Page 7 /
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Which of the following is the electronic confi

elements ?

\{}J/ (P’l'—Q}f]_lq.[n—l}szp&dﬁ,lnsg

B)  (n=2)f0%(n -1)q10p2
(©)  (n=-2)f2"(n_1)g0p2

(D) (n=-2)d % (n-1)f0-14,41

(118]

guration of Lanthanide

12.  frofafed § w4 dfe o @ geam 2 o
(A)  Ag,SO, | (B) CuF,
(C) CuyCl, (D)  MgF,
Which of the following compounds can be coloured ?
(A) Ag,SO, (B) CuF,
(C) CuyCl, ' (D)  MgF,

13. K, [ Fe (CN), | H &gt i affadierm steeen 2
(A) l+2 : (B) +3
© o . (D) +4

25A/12/112 Page 8 / 40
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The oxidation state of Fe in K, [ Fe (CN)g ] is
\y)/ +2 (B) +3
€ o ' (D) +4
14, R& FRA [Colen),CL]* § Co H e T HeAT 2
(A) 27 (B) 36
(C) 33 (D) 35

The effective atomic number (E.A.N.) of cobalt in complex 10n

[Co(en),CL)]" is
(A) 27 | AB) 36
C) 33 | (D) 35

15, EEEEEERE o %1 W g Rt # w8 2

H I
@ HO—P=0 (B 1
H OH
i o
(€) HO — [IJ — QQH (D) HO — ll:’ — OH
OH : OH

- Page9 /40
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Which of the following is the structural formula of

hypophosphorous acig ?

H
HO — b= "
(A) B O @ HO— P—y
i |
OH
0
I S

_ i
(c) HO P —OOH (D) HO—P—OH

OH | | {I)H
16. 3T Y g@rn s g
(A) CaOgm | B) P,0,,TW
(C) W% H,S0,8m tD] ¥ CaCl, g
Ammonia can be dri;ed by
(A) CaO B) PO,
(C) Conc. H,S0, \y:af Anhydrous CaCl,

17. ﬁwﬁ-‘f&aﬁﬁaﬁqmwm%?

(A)  AsH, (B) SbH,
(C) PH, (D) NH,
25A/12/112 Page 10 / 40
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Which among the following is the strongest base ?
(A)  AsHj (B) SbH;

(C) PH, | D) NH,

[118]

18. SO, ® smwma
(a)  sp? | B) sp’
(C) sp°d (D) Sp3d2
'i‘ he hybridization of S in SO, is
&) sp’ ® sp’
(C) spid (D) sp°d’
19, AR H FeaH FEEdIShdl 2
A) 2 B) 3
© 4 D 5
The maximum covalency of nit_rogen is
a) 2 B) 3
c 4 | Dy 9
25A/12/112 Page 11 / 40
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20.

21.

[118)

(A) O B) 2
<€ 3 D) 4
The number of unpaired electrons in one molecule of liquid
oxygen is
y
A o Jﬁ"l 2
€ 3 (D) 4

mﬁmwmﬁwmmﬂaé
(A) He (B) Ar
(C) - Xe (D) Rn

The most abundant noble gas in atmosphere is

(A) He (B) Ar
(C) Xe (D) Rn
25A/12/112 Page 12 / 40
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22. ﬁﬁﬂamﬁg—immmmm%
Zn | Zn " Fcz"' | Fe
E Zn2%* |Zn =~0.76V, E° Fe* |Fe=—0-44V
(A) 12V (B) 032V
< -12v (D) -032V
The electromotive force of the following cell is
Zn | Zn2+ " Fe2+
E Zn?*|Zn=-0.76V, E Fe?* |[Fe=-0-44V
A) 12V (B) 032V
@ -12v (D) -032V
23. fafie S $ 76 @t @
(A) ohm cm! | (B) ohm cm2
(€} ohmlcm™ (D) ohm!cm™
25A/12/112 Page 13 / 40
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1113|

The unit of specific conductance IS

(A)  ohm cm-! (B} ohm cm™2
(€C)  ohm1cm-! (D) ohm! cm™
24 Tferfi § fra weir R o ga9ie ged 3@ @ 2
(A) 1% =N (B) 1% GHIA
(C) 1% NacCl (D) 1% CacCl,
Which among the following aqueous solutions has the highest
boiling point ?
(A) 1% glucose (B) 1% sucrose
(C) 1% NaCl (D) 1% CaCl,
25. fr=fafea § S arvger o 18 2 -
(A) I TE (B) T&w= &1 sy
(© wewrf gE (D) 9 F1 3377
20A/12/112
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Which of the following is not a colligative property ?

v(m/ Vapour pressure (B) Depression of freezing point

(C)  Osmotic pressure (D) Elevation of boiling point

06, frefeiaa i rg i % wi drer w1 el g e g € 2
(A)  fen (B)  WTHRV T
© TR (D) l@‘ﬁ'
An aqueous solution of which of the following compounds shows
abnormal osmotic pressure ?
(A) Urea (B) Common salt
(C) Glucose (D) Sucrose

27, -asﬁaaasﬁﬁ?@%ﬁmﬁmmwﬁamaﬁma, —
Tl 8
() Imed e (B) aria® fqerd
(ci eyt faer (D) R e

25A/12/112 Page 15 / 40
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Raoult’s law is called
(A) Ideal solution (B)

True solution

J_Q{ Non-ideal solution (D)  Colloidal solution

28. THIUHY foed &1 TO 8 2
(A)  TTER g
(B) W'.Eﬁ
(C) 9T 1 I WTfEh 3w

(D) SEUHATH H IAGA

[sotonic solutions have equal

({'9/ osmotic pressure

(B) vapour pressure
(C) relative lowering of vapour pressure

(D) elevation of boiling point

25A/12/112
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n {1;8]

29. A A [ Ni (CN), |12~ & Wfﬁ@,—cﬁ—g
A)  Few B) e
(C) i Ity D) EFEHE
The structure of complex ion | Ni (CN), ]2~ is
(A)  Linear (B) Tetradedral
ﬁ/ Square planar (D) Octahedral
30. e AT [ Co(NH,), |Cl, 1 IUPAC AT &
(A)  REETHR Fiwwe (11]) TS
(B) ReEA e (II) FIUIS
(C) eI ;rs'aa’rrrs@ﬁmé (Im)
(D) ¥ @ PSR
The IUPAC name of complex compound [ Co(NHg)g ICly is
\y{( Hexa-ammine cobalt (I11) chloride
(B) Hexa-ammine cobalt (II) chloride

(C) Hexa-ammine trichloridocbbalt (I11)

(D) None of these

25A/12/112 | Page 17 / 40
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M & B o aaraaaa wefifa w8 w0 e 2 2

31.
(A) NGO, (B} SCN~
(€) CN” (D) NH,4
Which of the followiﬁg cannot shoﬁr linkage isomerism ?
(A)  NO; | (B) SCN~
(€) CN | | v&ﬁ NH,
32. Sl Wi % A Aehreiierr KOH 6 suftafy & wiRiwn 6 s 3
e 8
(A) =1 W (Bi AT
(C) T sffea | (D) e e
Reaction of primary amine | {vith chloroform in the presence of
alcoholic KOH is called
(A)  Hydrolysid. (B) Rcductioﬁ
(C) Wurtz reaction™ | ﬂ) Carbylamine reaction
25A/12/112 Page 18 / 40
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D (118
33. fefeaiga § e w2 >

(A)  CCl;.CHO (B) CCl,.COCH;

(C) CClcoccl, (D) CCl, CH, OH

Whach of the following is chloral ?

(A)  CCl,.CHO (B) CCl;.COCHy4

(C) CCl,COCCl, (D) ccl, CH, OH
34, fr=faRea 4 framm g fgym sl 2 2

(A) CH,CI (B) CCl,

(C) CH,CL, (D) CHCL,

Which of the following has zero dipole moment ?

(A) CH,CI (B) CCl,

(C) CH,CL, - (D) CHCL

?343 Fl

35. CH, —CH— CH—CHy %1 IUPAC A 2

(A) 3-af-ﬁﬂ—27ﬁ% A (B) 2-FoRI-3-AR A

(C) ITFEIgee FANES (D) AFvsh Hfew FES

. Page 19 / 40
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I |
The IUPAC name of CH; —CH—CH — CH,4 is

[113)
CH, Cl

(A)  3-chloro-2-methyl butane

\/031/ 2-chloro-3-methyl butane

(C) Isobutyl chloride

(D)  Secondary butyl chloride

Fraferfaa § ® wrerer Herm sifiem 2 7

36.
g
(A} CCI,CHO (B) CH,;—C—CHO
|
CH,
(C) CH,CHO (D) HCHO
Which of the following would give Aldol condensation reaction ?
£
(A) CCL,CHO B CH;~C—CHO
|
CH,
(C) CH,CHO (D) HCHO
' 37. Rerm# IufRdm @ R
(A)  10-20% Hife® v (B) 10% tHifes ama
(C) 6-10% Hifes 3r (D) 100% UHifew 3
25A/12/112 Page 20 / 40
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m [118]

Vinegar containg

(A)  10-20% acetic acid (B) 10% acetic acid

(C)  6-10% acetic acid (D) 100% acetic acid

38. CH,COOC,H. %I [UPAC W 2
(A) uRE vaEe B) Uue T
(C) wHdwE (D) vuiEfEdd
The IU-PAC name of CH;COOC,H; is
(A) Methyl propanoate (B) Ethyl ethanoate

(C) Acetoethane (D) Ethoxyethane

39. T UM 1 WHT A €l 8

(&)  CHopaN B)  CpHanoN
(C) CpHanaN D) CHyN
40
25A/12/112 - Page2l/
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m ngl

The general formula of an amine is

n""2n+]

JC/) C,H,, . N (D) C,Hy,N
40. Tr=fafeq o w9 feget aTﬁrq‘?ﬁm 1
(&) I TewTSE aEgs  (B) A HewIth 30T
(C) Tt e (D) hfew TN
Which of the following is Hinsberg reagent ?
(A) Benzene sulphonyl chloride
(B)  Benzene sulphonic acid
(C) Ethyl oxalate

(D) Acetyl chloride

https://www.bsebstudy.com
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-
41. CHy=C—NH, R w®
CH,
(A)  TEE
o (B) dpvelt THH
C B
© Rl (D)  SEIfFEH &
.
CHB—?_NHQ isa
CH,
(A) Primary amine (B) Secondary amine
\}C{ Tertiary amine (D) Ammonium salt
42, TE G A F AW 2
(A) W (B) WG
(C) IR (D) T &l
The source qf fats and oils is
(A) milk (B) Dbutter
(C) checse. v&{} all of these
Page 23 / 40
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43, Mmﬁ&%ﬁrmmﬁm%fﬁtﬁﬁ‘ﬁmﬁ

(C) wHa | (D) ATUHH T

The specific rate constant of a first order reaction depends upon
(A) concentrqtion of reactants
(B)  concentration of products

\/{é time

(D)  temperature

44. 3 NaOH % ufeify & wha ¥z = w& sqwen fem w8 &

AAtvferar 2 2
(A) 1 B) 2
C 3 Dy o

The hydrolysis of ethyl acetate in the presence of dil. NaOH isa -

reaction of which order ?

(a) 1 | B) 2
() 3 (D} ©

https://www.bsebstudy.com
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45, I %ﬁ*%ﬂm—wwmﬁmﬂMﬁa@m% ?
S | (B) 2@13
TG 1TE4 (D) 23714
The temperature coefficient of most of the reactions lies between
@ lands () 2and3
(C) 1land4 (D) 2and4
a6, Tod TETERE sfihem % 3w @1 oo 2, 3 = k[A] [B]"; AfuGEA
Hfe |
(A) 1 | B n
() n+l (D) T A ¥ T
The expression of rate for a chemical reaction is, rate =k{A] (B]™;
the order of reaction is
@ 1 | ® n
@ n+i (D) none of these
47. Wm@maﬁaﬁﬁﬁaﬁ%wﬁﬁmﬁﬁﬁﬁ#ﬁgﬁm
T FH IIET 8 ?
(A) KBr - (B) K;S0,
©  K,Cro, BRI
25A/12/112 | | | Page 25 / 40
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[1181

Which of the following electrolytes is the least effective in Causin,

coagulation of colloidal solution of ferric hydroxide ?

(A) KBr (B) l-{2 SO,

(C) K,CrO, (D) K,;[Fe(CN)g]

48. Trafafea § 9 yrdiws B?
(A). L o B) =
(C) Nacl (D) | E g

Which of the following is an emulsifier ?

\}A/ Soap [B] O1l

(C) NaCl (D) wate£

49. gm%&r@aaﬁﬁm%mmﬁﬁﬁ%ﬁaaﬁaﬂqm%ﬁm%?

(A)  ALO, (B)  Fe+ Mo

(€) Cuo (D) Pt

25A/12/112
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Which of the following catalysts is used in Haber’s process for the
manufacture of ammonia ?
(A) AlLO, (B) Fe+ Mo
(C) CuO | (D) Pt
50. o A Tk fyafe
@) faafm E B) fyafm D
© ek (o) Frfe B
Water soluble vitamin is
(A) Vitamin E (B) Vitamin D
(C) Vitamin K (D) Vitamin B
51. g SR &R S RNA # Jaf&m@ a2,
() e (B) U
(c) gEAEH | (D) s
The purine base present in RNA is
(A) Guanine (B) Thymine
(C) Cytosine (D) Uracil
LQSA/IQ/l]_QJ | Page 27 / 40
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[118)

52. W SEEIH B Jeqre B
(A) rodfiodio (B) e
€ Fet () it
The product of addition pr_:nlymerisatign is
(A) PVC (B) Nylon
(C)  Terylene | (D)  Polyamide

53, frerferfin & H aRfT s & o
(A)  didifrTEs w6sE (PVQ)
B) ichfeme e (PVA]
© ¥
(D) ¥ & F§ 7
Which one of the folidwing is a thermosetting plastic ?
(A)  Polyvinyl chloride (PVC)
(B) Polyvinyl acetate (PVA)
(C) Bakelite
(D)  None of these

25A/12/112 | Page 28 / 40
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ﬂ [118 ]
54. HEWH*WWW%’W%
(8)  CTeRty .
(B) uReEmaiRt®
(€ CRumfrs ,
(D) ¥ @ ®I3 &
Th.e medicines Which lower fever are called
(A)  Analgesic (B) Antibiotic
(C)  Antipyretic (D) None of these
55. frfcigd # w17 sideme & »
(A)  GIS B) TIEN
(C) %F™ D) wH
Which of the following is a disaccharide ?
(A) Sucrose (B) Glucose
(C) Frugtose | (D) Starch
s6. gyt I % W SEv I HET A 2
(A) T YeHEETES (B) TTH
@ wwEE D) s ,
@AKIEIIIZ_J Page 29 / 40
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S7.

S8.

[ 118

Alkal salt of palmitic acid is known as

(A} an alkoxide (B)] an ester
(C) asoap (D) an epoxide
fiz-%Ra v s1d A § qomadt § Gem ad 2
A) 2 (B) 3

< 4 (D) 12

The number of atoms present in body-centred cubic unit cell is

Ay 2 (B) 3 \
(C) 4 (D) 12
frafefiga 4 ¥ AR A R 2

(A)  KCI (B) CsCl

(C) ™™ (D) Uhas wowt

Which of the following is not a crystalline solid ?
(A) KCI (B) CsCl

(C) Glass (D) Rhombic sulphur

25A/12/112
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a (118 ]
59 ﬁmﬁﬁmm%mmmz?

A) 23 5 7

e (D) 14

How many kinds of Bravais lattice are possible in a crystal ?

A) 23 B 7

@ o 1
o, R T gt S 3 v et

(A) 32 (B) 34

© 28 | (D) 20

The percentage of free space in a body-céntred cubic unit cell is

(A) 32 (B) 34

el 28 (D) 20

61. faga-37aued § JEIH Bl 8

(A) R W (B) HUIE ®

() @é@maﬁm (D) g faga Jvaes W R v 2
@Hwnzj Page 31 / 40

https://www.bsebstudy.com


https://www.bsebstudy.com/

In electrolysis, oxidation takes place at

\_}Al/ Anode

(B} Cathode
(C) Both anode and cathode
(D} Depends upon electrolyte used
62. T . |
2 32gwﬁ%ﬂmaﬁgﬁﬁaﬁﬂa%§ﬁgﬂﬁﬁmﬁmﬁﬂm
Bl @ 7
(A) 1% B) 2%
() 3%m D) 43R
The quantity o.f clectricity requi
quired to 1j .
https://www.bsebstudy.com ° fiberate 32 g of vvgen is
(A) 1 faraday «f{} 2 faraday
(€) 3 faraday D) 4 faraday
63. wmR
(A) =t e B)  ¥IE aiagre
(C) Wi rfauTs
_ D) S =Efrg BRes
HATHZ
 25A/12/112 I
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Rust is

(A) P?Wdered iron (B) Ferrous oxide

(C)  Ferric oxide \/u:))/ Hydrated ferric oxide
64. FARHH & TH

(A)  WEHQ gEEs - ) R IS

(C)  FTEREISH g (D) g eI

Chloroform is
(A) Primary halide | (B) Tertiary halide
\152{ Trihalogen derivative (D)  Te trahalogen derivative
65. UEHIEI S GHTA R 8
(A) =C—OH (B _~CH—OH

() —CH,OH (D) ¥4 @ |l

General group(s) for alcohols is/are

() =C—OH (B)  CH=—OH
(¢) — CH,OH \,(1:))/ all of these
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©6. A C,H,,0 % frad T e § 2
A) 2 (B) 4

< 7 (D) 8

1118'}

The number of isomeric alcohols of molecular formula C,H,40 is

B) 4
€ 7 (D) 8
O7. I K,Cr 0, ¥ g sifafiaron & Afrer dewrerer 2T 2
(A)  CH4COCH, (B) CH,CHO
(C}: HCOOH

(D) CHL;COOH
Methyl alcohol on oxidation with acidified K,Cr, 0, gives

(A)  CH,COCH, | (B) CH,CHO

(&) HCOOH ~ (D) CH,COOH

68. SHURNE SR F W F T F I A 2

(a) o fans & d (B) P i e 3
() vt % wad D) FTs$wvd
25A/12/112
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piethy! cthgr finds its use in medicine as
(A)  pain killer (B) hypnotic
(C) antiseptic (D) anaesthetic

go. FrEiAet AE F1 W g 2
() C.H,0 | (B) C.Hy,.00
() C,H,.,,0 D) T & FIS T
The general formula of carbonyl compound is

A CnHp,0 (B) CpH,20

) C,Hy,,0 (D) none of these

70. HW F qUHH T HHCSEES B
A = B) |
) 3™ (D) T | HIE TE
At room temperature, formaldehyde is
(A) gas | (B) liquid
(C} solid (D) none of these
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wWug - ¥ / SECTION - B

g IO WY / Short Answer Type Questions

W HEAT 1 ® 20 ey swdw § 1 feRT 10 WA & IW | FAF & fg
2 % fruffea & . 10 x 2'= 29 |

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions,

Each question carries 2 marks : ' 10x2=20 |
AT s Rl st siteeares Rl 8 s e & A R

Write the names of the catalysts used in contact process and

Ostwald process.
2. EEtmEEeiEEmee (I11) FREE w1 ¥ fod)

Write the formula of Tetra-aminoaquachlorido-cobalt (III) chloride.

3. weATEgsql fed wEd € 2

What is metamerism ?
4. HIFA AT FHEE A azn 22

What are chiral and achiral compounds ?
5. IEvE® GHA v ;0 E 2

What are essential amino acids ?

25A/12/112
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8. “Osﬁmaﬁﬂtﬁm%mmﬁm%l”ml
"y behaves as a strong oxidising agent.” Explain.
7. UEARNR P
What is slag ?
8. JIRuTMEREL
What are Macromolecules ?
o ¥R Ragn-sren v R Fram 9 o
Write Faraday’s 2nd law of Electrolysis. '
8. sfes i K[cr(C,0,),) %1 IUPAC m R
Write the IUPAC name of complex compound K,[Cr(C,0,}),].
11. R tewigia ® Al caCl, gr1 I=5 7 7 fben wrar 2 2
Why is ethyl alcohol not dried by anhydrous CaCl, ?
)2, it wfter # frd)
Write Arrhenius equation.
13. e Imeres A 337 a1 A TR 2

How would you prepare ethane from methyl iodide ?

25A/12/112 | : Page 37 / 40

https://www.bsebstudy.com


https://www.bsebstudy.com/

D (118)]

14 Uuleefn A wmident sy 4 T o

How would you prepare iodoform from acetylene ?
157 PCl; @ T dYfirs 2, T NCl, 7E| F4¥ ?

Why is PCl; a known compound, but NCI, is not ?

16. mmﬁiﬁ;{ﬁwﬁiﬁﬁaﬁﬁmim e #
i ? -
Why are alcohols more soluble in water than alkanes of same
molecular weight ? https://www.bsebstudy.com -

A7, YA $ I Y o @ g E o
What do you understand by elevation of boiling point ?

18.

FEA 2 5 0T FNES, TrrTeTos KOH ¥ 89 i w2 2
What happens when n-butyl chloride reacts with alcoholic KOH ?
19. Uchigldd @ Ba | 7= w78 #t

Distinguish between Alcohol and Phenol.

20, g F 10 wH Brardie =t g @ 2

Why is nitrogen molecule less reactive ?
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gt Iwdta we / Long Answer Type Questions
T WS 21 W 26 3 wdta we § 1 et 3 wvAl % g0 § 1 0w & oy
5 3 gl ¢ : 3x5=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any
3 questions. Each question carries 5 marks : 3x5=15
. Wwe & fram A =men ) @ am F aes d o aned T smed
el & form s favig et » |
Explain Raoult’s law. How would you distinguish between ideal and

non-ideal solutions on its basis ?
ygz.’ IS F WG F Y R WA 2 T F wigu & faf fafte
T4l #i)

What do you understand by concentration of an ore ? Discuss the

different methods of concentration of ores.
23. (a) HYAIEH 30 T FUAIEH I & W9 IR oG] 3

(b) TFrafeiaa dfteet & tupac Tm ford - | | 2

@) CHy—CH,~ N—CH,
CH,

Br
|
(ii) CH;—CH—CONH,

25A/12/112 Page 39 / 40
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(&) Differentiate bc'twocri Methanoic acid and Ethanoic acid.

(b)  Write IUPAC names of the following compounds :

(i)

(i)

24, FIEIREIT TR 2 T whiwm ) e @ & 2 2+3

|
CH,

Br
|

CH;— CH — CONH,

What are carbohydrates ? How are they classified ?

25. (a) DNATE RNA® =R sa3u] 3

(b) =fFs arA T E 2 . 2

(a) Differentiate between DNA and RNA.

(b) What are nucleic acids ?

_26. ﬁgawmﬁm@aaﬂtﬁqammﬁmﬁﬂél%m%ﬁam
¥ A FAII-Tq 1 W 9EA & ? | 3+2

Differentiate between Electrochemical cell and Electrolytic cell.

What are the importances of salt bridge in an electrochemical cell ?
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